FED ! FED !
FrlL > UL

ZOEBEICHEINSG. FE2E - BHFmIT0
FRAR - ABREEZEANLEG,

ﬁ?-".\

.i..u-,

T Ao 2 R
BARHFELR BT '-

BF= 7%278(%)8%38(%).4' o K
EB98309~ 118309 e,

P = FROHDK /A R

HHR-EBE=/F1 ~4FE BB20A

(3880 . BAEMFEBRE PHESKIA)
BitE= 1001
PA-RBEE=78108 (&) FTOIF~ 176 (&
-BREZERL) ICBRN\DFHNBEES2MERF>T
X ANREE (B852-2346) o
EXDBEIE FEN\AFIS. HLBR - REDES
BES - 7 BE1 - FF - 45l - BEES. RIER
(CREBOHMBPES - Fr7-BRIZELALT7A10
B (&) #7& C. FHXREE (T 639-1107 B#
BT 4-4) \o (EBZBRI2HE (FHE)

EHARINPFZEONy - EFH#
(REMXHAER)

[£BAR/NPZEDORY MEFHE (RRIBX TESR) |
(98278 (B) B (O THRIRAORY I\%{’E*“
LET. (SNER - 2hA)
BE=7H288 (X)
INFEE OR300~ 1265
- hELE 13[F300~ 166
B =RRIXSFEPIFER (KBET)
WK - EBE=TER RECPIBTETD/NFRLFED
- PREB24 N XNBEBLHOBE THE
A= X—)L - FAX T\ [IN\24 (PZF4) OR Y ME
FESNAL] P LT BRE (&) DB (5
DHRE) - ZRE - FE REESDBR - 17 B
BES(X—=)ILT7RLR)ZEKALT.7A88 (K)
T WB) 2. RRILESFBPIZRMIFREES
% (M 55-6019- bgs-soumu@jimu.nara-k.ac.jp)
No 5l (. REREFER—LANR—TI(CTo
S8 =R"RIEZSFSFIFR (855-6013)

-
ARl @
A A= "
.y al
i

14 @ 3% -Drry) FEH27E78185S No.1097

"t

HIE DN FE AR INFEAE T AER )

DIZUIEEDERICEEABBUNHDDIESD ?

COBARAKIDBH ZRH BLLELSSAESD |

B - 1577 - R =%BB 9K 300~ 166
O7R318 (&) /H=EU=EE

[H< U] 2 TAIEESDS? -BBREDSANSHL
- FEO165R

@8R18 (1) /RoEESEULY— (KR
BUSEEES)

BOTHER - BT /NRT Y NR—)URER
®8A38 (A) /RIGHE (FHLEH])
BHR (EERER) TOME
WK - EE=MAEED/N\F 4~ 6F4E. 30 A
PA-BEE=78248 (£) £T (L BEZR<
IR~ 170) (. HEBURERBUR (B53-
6531 55-0986) N

AAnBR L Lokl 16
ZTYN—XK7T7—1
BBRERCEHINEE - BRBERG EZTVET,
BR=78258(1)9K~268(8)126(1:828)
BAR=20OR [REAR] (IBAFBROXK - KB FH
MR=mAEEF - TZ2D/N\F 4 ~ 6 F4E
EE=30A (5ElE) #A=1A1,000MH
BiA-EEE=7A198 (B) £TIC. XABLEF
REPT (B53-6030) (http://www.ykjc.org/) o
TEBI(TIRV) RBRAIHET o (EEFBH)

L1@l |-~ —HES
B0 BNEHETELC T B - AliE - BFOERZ S
(:’D('f\ ) =5 —& U THBRAFE PR =20 T,
=7 )—-9—tHER
Eﬁs 88118 (K) ~128 (K
B =8N EE I — (EHEBHLET)
WR=HREEDSRKE - K24
BAI=78178 (&) £T S8iE&E=2,000M
QR 21=7 - )= —HER
BE=88208 (K) ~218 (&)
BAA=2WNR (A AZ] (IBAEBADR - KHH])
WR=/NPEFELVEFEEPDR 227 - 1) —5F —
THESICSIN U TV RUWNE 6 &ELE
PAI=75248 (&%) £T S&=1,8000
QL{RT 17 - V-5 —THES
BE=88248((A) ~268 (K)
BA=EIISHEa EBADR (W)
WR=PpF 1 ~3FLE
PIAREI=8R78 (&) £T #A=3,700M
[HEEIE] A - B =EEFBR (NIR731)



